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There are 5 bunches of balloons at a party. Each bunch has 3 
balloons. How many balloons are there at the party?

Total number of bunches

No. of balloons in a bunch

=

=

5

3

15

1)

There are 4 plates of cookies. Each plate has 15 cookies. How 
many cookies are there in total?

2)

There are 20 books on each shelf. There are 15 shelves in the 
library. How many books are in the library?

3)

X

So, totally 15 balloons are there in the party.
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Jessica makes 2 bracelets. She puts 5 beads on each bracelet. 
How many beads does she use in total?

4)

There are 3 vases of flowers. Each vase has 20 flowers. How 
many flowers are there in total?

5)

There are 18 crayons in each box. There are 15 boxes in the 
drawer. How many crayons are in the drawer?

6)
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